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Section I
20 marks
Attempt Questions 1-20

Allow about 35 minutes for this section

Use the multiple-choice answer sheet for Questions 1-20.

1 Which of the following is an example of a monetary union?

(A) EU

(B) APEC
(C) ASEAN
(D) NAFTA

2 Which of the following policies is mainly used to manage inflation?

(A) Fiscal policy

(B) Monetary policy

(C) Competition policy
(D) Labour market policy

3 Which of the following is most likely to result in an increased budget surplus?

(A) Reduced government spending and reduced taxation
(B) Increased government spending and reduced taxation
(C) Reduced government spending and increased taxation

(D) Increased government spending and increased taxation

4 Other things being equal, which of the following is most likely to increase if Australia’s
major trading partners experience an economic slowdown?
(A) Australia’s GDP growth
(B) Australia’s unemployment rate
(C) Demand for Australia’s exports

(D) Australia’s consumer price index



A government decides to reduce tariffs on imported goods.

Other things being equal, what will be the most likely impact on the domestic economy?

(A)
(B)
©
(D)

Tariff revenue will increase.
Tariff revenue will remain unchanged.
There will be a redistribution of income from importers to local producers.

There will be a redistribution of income from local producers to importers.

An increase in which of the following will most likely change a Gini coefficient from 0.3

to 0.4?

(A) Company tax rates

(B) The goods and services tax rate

(C) Marginal income tax rates for high income earners

(D) Tax rates levied on the profits from the sale of property

Which of the following best describes a person experiencing frictional unemployment?

(A)
(B)
©

(D)

A university student struggling to find work during a recession
A summer fruit-picker undertaking full-time training to acquire new skills

A self-employed worker whose business has shut down and who plans to start a
new business

A factory worker who is employed part-time and who is actively seeking to
increase their hours of work



The diagram refers to the change in the distribution of income in a hypothetical economy.

—Year 1

Year 2

Cumulative proportion of
total income (%)

Cumulative proportion of
persons ranked by income (%)

Which of the following is most likely to increase as a result of the change in income
inequality from Year 1 to Year 2?

(A) Consumption

(B) Labour force mobility

(C) Risk-taking by entrepreneurs

(D) Saving and capital investment

A government has recently decided to increase the age of retirement.

Which of the following are the most likely impacts of this decision on the labour force
participation rate and taxation revenue?

Impact on the labour force Impact on taxation
participation rate revenue
(A) Increase Decrease
(B) Increase Increase
© Decrease Increase
(D) Decrease Decrease




10  All other things being equal, which of the following is most likely to shift the demand
curve for labour from DD to D D,?
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(A)
(B)
©)
(D)

Wages & D,

D S

D,

D

0 >
Quantity of labour

An economic downturn in the global economy
An increase in the labour force participation rate
The establishment of minimum employment standards across all industries

The implementation of a decentralised method of determining employment contracts

A government has changed the method of financing its budget deficit. Instead of
borrowing from the domestic private sector, it will now borrow from overseas.

All other things being equal, what is the most likely impact of this change on the domestic
economy?

(A)

(B)
©

(D)

The foreign debt will decrease.
The budget deficit will decrease.
Current account deficit will increase.

Domestic borrowing costs will increase.
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What is the most likely impact of an increase in the official cash rate on the domestic
economy?

(A) Lower inflationary expectations resulting from a depreciation of the domestic
currency

(B) Higher inflationary expectations resulting from an appreciation of the domestic
currency

(C) A redistribution of income and wealth towards those with a relatively high marginal
propensity to save

(D) A redistribution of income and wealth towards those with a relatively high marginal
propensity to consume

The Australian Government has received a repayment of an interest-free loan made to a
developing economy.
How will this be recorded in Australia’s balance of payments?

(A) A debit in the secondary income account
(B) A credit in the secondary income account
(C) A debit in the capital and financial account

(D) A credit in the capital and financial account

Which of the following is most likely to result in a decline in Australia’s terms of trade?

Demand for Australia’s exports Supply of Australia’s exports
(A) Decreased Increased
(B) Increased Decreased
© Increased Increased
(D) Decreased Decreased

Which of the following is most likely to allow an infant industry in Australia to benefit
from globalisation?

(A) An increase in Australia’s import quotas

(B) A decrease in Australia’s levels of protection

(C) A decrease in Australia’s regulation of transnational corporations

(D) An increase in Australia’s recognition of international educational qualifications
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The table shows selected data for a hypothetical economy.

All other things being equal, how are real Gross Domestic Product (GDP) and the Human

Year Money GDP Population CPI
($ millions) (millions)

1 1000 100 100

2 1500 150 110

Development Index (HDI) most likely to change from Year 1 to Year 2?

(A)
(B)
(®)
(D)

An increase in which of the following is most likely to lower the non-accelerating

Real GDP and the HDI both increase.
Real GDP and the HDI both decrease.

Real GDP decreases and the HDI increases.

Real GDP increases and the HDI decreases.

inflation rate of unemployment (NAIRU)?

(A)
(B)
©
(D)

Official cash rate

Government spending

Infrastructure investment

Use of centralised wage bargaining

The table shows hypothetical data for the Australian economy.

All other things being equal, how did the purchasing power of Australian consumers

Year $A in terms of $US Headline inflation (%)
1 0.70 2
2 0.75 1

change overseas and domestically from Year 1 to Year 2?

(A)
(B)
©
(D)

Purchasing power of
Australians travelling overseas

Purchasing power of Australian
consumers domestically

Increased Increased
Decreased Increased
Increased Decreased
Decreased Decreased
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The table shows hypothetical data for the Australian economy.

Loans owed by foreigners to Australians ($ billions) 150
Loans owed by Australians to foreigners ($ billions) 600
Australian assets owned by foreigners ($ billions) 100
Foreign assets owned by Australians ($ billions) 250

What is the value of Australia’s Net Foreign Liabilities?

(A)
(B)
©
D)

$300 billion
$400 billion
$600 billion
$1100 billion

It can be argued that a public road is NOT a public good because

(A)
(B)
©)
(D)

travel times vary with usage.
the private sector can build and maintain roads.

when one car uses the road another car can still use the road.

the road is used by both public and private forms of transport.
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40 marks

Attempt Questions 21-24

Allow about 1 hour and 15 minutes
for this section

Answer the questions in the spaces
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are answering.
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Question 21 (10 marks)

(a)

(b)

Why might a government prefer to protect an industry with a subsidy rather than

a tariff?

Explain how removal of a subsidy might promote greater efficiency in an

economy.

Question 21 continues on page 11
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Question 21 (continued)

(©)

Discuss the likely impacts on government revenue and expenditure of removing

a subsidy.

End of Question 21
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Question 22 (10 marks)

(a) Outline the difference between a private benefit and a social benefit. 2

(b) Explain why developed and developing nations may take different approaches 4
to environmental sustainability.

Question 22 continues on page 13
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Question 22 (continued)

(©)

Explain an advantage and a disadvantage of international environmental

agreements in addressing environmental sustainability in the global economy.

End of Question 22
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Question 23 (10 marks)

(@) On the diagram draw a new supply curve that shows a depreciation of the

Australian dollar.

$A in A
terms of $US s
D
O »
Quantity of $A

(b) Briefly explain why there might be an increase in the supply of Australian

dollars.

(c) Explain how a decrease in an economy’s Trade Weighted Index may affect the

level of inflation in that economy.

Question 23 continues on page 15
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Question 23 (continued)

(d)

Assess the impacts of a depreciation in the Australian dollar on the level of 4

employment in Australia.

End of Question 23
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Question 24 (10 marks)

(a) In a hypothetical economy, MPC = 0.9.

What is the change in national income if investment declines by $100 million?

(b)  Explain how changes in the MPC can affect an economy’s growth.

Question 24 continues on page 17
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Question 24 (continued)

(©)

Explain how changes in both aggregate demand and aggregate supply influence

economic activity.

End of Question 24
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Section II extra writing space

If you use this space, clearly indicate which question you are answering.
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Section 111

20 marks
Attempt either Question 25 or Question 26
Allow about 35 minutes for this section

Answer the question in the Sections III and IV Writing Booklet. Extra writing booklets are
available.

Your answer will be assessed on how well you:
m demonstrate knowledge and understanding relevant to the question

use the information provided

apply relevant economic terms, concepts, relationships and theory

present a sustained, logical and cohesive response

Question 25 (20 marks)

Please turn over
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Question 25 (20 marks)

Explain how the Australian Government’s labour market policies affect both the employed and
the unemployed. In your response, refer to the economic information provided.

Labour force participation rates in Australia
February 1978 to February 2014
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Source: ABS, Labour Force, Australia, Catalogue No. 6202.0, released 12 March 2015

OR
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Question 25 (20 marks)

Explain how the Australian Government’s labour market policies affect both the employed and
the unemployed. In your response, refer to the economic information provided.

Without regulation and an ability to act collectively, many employees are likely to have
much less bargaining power than employers, with adverse outcomes for their wages
and conditions... [Awards in the Australian labour market have] some undesirable
inconsistencies and rigidities...

Wages paid are typically the key cost of employing labour... Businesses incur other
employment costs, such as workers compensation premiums, provision for leave,
superannuation and payroll taxes...

For employees, wages are often the main ‘return’ from working, such that an increase
in wages induces more people to enter the labour force to seek work ...

Productivity Commission Inquiry Report, November 2015

Labour force participation rates in Australia
February 1978 to February 2014
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Question 26 (20 marks)

Explain why an Australian Government may not be able to achieve all of its economic
objectives. In your response, refer to the economic information provided.

Real GDP and CPI Inflation: Australia 2011-2015
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Section IV

20 marks
Attempt either Question 27 or Question 28
Allow about 35 minutes for this section

Answer the question in the Sections III and IV Writing Booklet. Extra writing booklets are
available.

Your answer will be assessed on how well you:

m demonstrate knowledge and understanding relevant to the question

m apply relevant economic information, terms, concepts, relationships and theory
m present a sustained, logical and cohesive response

Question 27 (20 marks)

Assess the impact of the Reserve Bank of Australia’s expansionary monetary policy on the
Australian economy.

OR

Question 28 (20 marks)

Analyse the influence of different factors on Australia’s trade and financial flows.

End of paper

—24 —

© 2016 Board of Studies, Teaching and Educational Standards NSW



	2016 HSC Economics
	Section I
	1 
	2 
	3 
	4 
	5 
	6 
	7 
	8 
	9
	10 
	11
	12 
	13 
	14 
	15
	16 
	17
	18 
	19 
	20 

	Section II
	Question 21
	Question 22
	Question 23
	Question 24

	Section III
	Question 25
	Question 26

	Section IV
	Question 27
	Question 28 




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




